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Each question carries equal marks.
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SARDAR PATEL UNIVERSITY
B. COM (Semester- L) (NC) On Demand Examination
Tessday, 21% Juze-2022
Time: 12.00 P.M. to 2.00 P.M.
‘UB(BSCOMZS/SS: REASONING ABILITY - §

TOTAL MARKS : 60

"0 (A | vwhatis Aptitude test.? Explain importance of Aptitude test.
Q-1 (B) | What is Reasoning Abiiity 7 Explain the main types of reasoning ability in detail.
'Q-2 What is entrance examination, list out the name of enfrance examination and explain any two of them in
; detail. ]
-3 Each question is compuisory & carry one marks.
(1) | TIGER :: QDFHS FiSH:?
(A) | GERH ~ (B) | GRHE
(©) GREH ' (D) GHRE
| @ [roaAr: URDU URDU: B D N
(A 31425 . 7 (B | 54213
7 (©) 34251 oy ] 15243
(3) | QPO NMLKJ,___ EDC . o
(A). HGF o |’ {caB
Ty |k , ©) | cH )
{4) {1 hé letters of the word 'CYGCLINDER' are arranged alphabetically, then which letter would be farthest
: from the first [etter of word? ‘ _ _
IR | e JE
© |y . - o |R
(5) in a certain code 'SEQUENCE" is coded as 'FDOFVRFT. How is "CHILDREN' coded i in that code'?
AA) OFESJMID . (B) | OFSEMJID
©). OFSEJIMD . |® .| OFsEMmID
‘ (6) | LIGHT:BLIND
W © Ay speechidumb - (B} | language:deaf
5 {C) tongue:sound - : (D} | voice:vibration
[ (7) | AFTER:BEFORE _ '
1(A) | first:second L | ®) present:past
; -(C)- contemporary:historic - 1Dy | successorpredecessor
(8) - | Architect : Building :: Sculptor: ?
ey | Museum : (8) | Stone
f@© | chiset : () | Statue
f @ | My uncle decided to take ..... and my sister to the market. .
BRI ' o B | Mine
{(C) Me - . D) | Mysel
Instruction for Questmri No. 10 fo 13 o '
Sixfiiends P, Q, R, 8, T and U are sitling around the hexagonal table each at one corner and are facing.
}22 g?gtre of the hexagonal. P is second to the left of U. Q is neighbour of R and S. T is second io the
(10) | Which oné i sitting opposite to P?.
@A) . |R IERE

(PT-0-)




|1 o |s

(11) | Wha is the fourth person to the left of Q ?
{A) P {B) |U
{C) IR (D) | Data inadequate
- {12} | Which of the following are the neighbors of P?
’ A |uap ® |T&R
¢ |U&R (D} | Data inadequate
{13) Whicﬁ one is sifting opposite to T 7.
(A) |R B) i Q
(C) | Cannot be determined .(D) S
{14) | (1) 1 (2) immediately (3) Salary (4) my (5) want.
(A) 43152 (B) | 15432
) | 25143 (D) | 42351 | () | 45132
(15) | (1) medicine .(2) a {3) Nesta (4) given (5) was '
(A) | 51423 - . 1(B) | 25431
- [y 115423 - o) l4azsar | () | 3541
- Q-4 Each question is compulsory & carry one marks. . ; '
Forquestionito5 : _
The following table shows the number of new employees added to dnfferent categories of employees ina
company and also the number of employees from these categories who left the company avery year
smce the foundatlon of the Company in 1995.
Yegr - Managers Technicians Qperators | Ancountantc - Feons
New | Left % New 5_ Léﬁ Hew Left Bow Left  MNew Left
e 70 - o | - s | - wes . - mo -
1996~ 280 120 272 | 120 266 104 200 | 100 184 | 96
1907 © 179 92 200 128 240 120 224 i 104 152 5‘88 :
| 1998'; 148 88 . 296 9 208 100 248 | 95 195 , 80
i 1999 1607‘7 72 256 | 100 192 112 272 | 88 224 120
2000 193 96 288 | 112 248 ."144 - 260, 92 200 164]
(1) | What is the difference betiveen the total number-of Techmclans added to the Company and the tota! '
number of Accountants added to. the Company dunng the years 1996 to 20007 -
{A) 128 o , (8) 112
(C) 9% o - (Dy 88
{2) What was the total number of Peons working in the Company in the year 18997
(A) 1312 o _: (B) | 1192
(C) | 1088 . | |oss
{3) | For wh|ch of the following categories the percentage increase in the nurmber of erhployees working in the
Ccmpany from 1995 fo 2000 was the maximum?
(A) Managers o : ® - Technicians
(C) Operators. (D} | Accountants
{4) What is the ppo[ed average of the total number of employees of all categories in the year 19977
(A) 1325 R (B) 1195 -
(C) 1265 - - [y | 1235
.2




(5} | During the pericd between 1985 and 2000, the total number of Operaiors who left the Company is what
percent of total number of Operators who joined the Company?
(A) 19% (B) 121%
(C) 27% (D) 29%

| For question 6 to 10 .

1 in a schoo! the pericdical examination are held every second month. In a session during April 2001 -
March 2002, a student of Class X appeared for each of the periodical exams. The aggregate marks
obtained by him in each perodical exam are represented in the line-graph given below. :

Miarks Obtained by student in Six Peviodical Held i Bvery Twa Menths During the Yeay in e
. 7 Session 2000 - 2042 :
Maximum Total Marks v nach Ferindical mpos 540
a10 - 405
400 e
290 - 383
{ i

380 =

o 370

i 370 1365 i
= 260 i
260 - G
350
340
330 J EEE e i . e i R
Apr-01  Jui-01  Aug-01  Qct-01 = Dec-01 - Feb-02
7 . Porbpdiond s _
(6) { In which periodical exams did the student obtain the highest percentage increase in marks over the |-

previous _periodical exams 7’ ' . : ' .

(A) June, 01 ' {B) August, 01

(). |Oct01 (D} Dec, 01

{7 The total number of marks obtained in Feb.-02 is whét percent of the total marks obtained in April 01 7

& | 110% ' ' ®) | 112:5% '

1{©)y 115% (D) 116.5%

(8) | What is the percentage of marks obtained by the student in the periodical exams of August, 01 and Oct,
. | 01 taken together ? o . ‘ . ) -
L@y |7325% B | 755%
, {C) T7% _ 1 (D) 78.75%
(9) | Whatare the average marks obtained by the student in 4l the periedical exams during the last session ?
IR ‘B |39 - '
©) 381 ] {D) 385
(10) g; ;\.'hici; periodical exams there is a fall in percentage of marks as compared to the previous periodical
1 ms? : : _ : ' _
(A None (B) | June, 01
(). | Oct 01 (D) | Feb, 02

e




Instruction for Question No. 11 to 15 :Study the following graph carefully and answer the questions
given below: ,
iziribuiion of oy Lol
(1) | What percentage of candidates passed the Exam frominstitute T out c,ft %ai na:mber-of-baﬁdédaiés
enrolled from the same institute? : ST o
(A) | 50% h e 62.5%
(€ 5% - S (D) . | 80%-
(12) | Whichiinstitute has the highest percentage of candidates passéd to the candidates enrolled?
®w |9 = - 5 ' ®) - |R -
© |V ' o T

(13) | The number of candidates passed from insfitutes S and P together exceeds. the nurmber of candidates-

enrolied from institutes T and R together by’ -

(A) . | 228 . ‘ (B)

279
(C) 399 _ 1D 407
{14). 1 Wt‘1at is the p’ercentage of candidates péssed fo the candidates enrolled for institutes Q and R together? ‘
Ty |6s% _ ' e | 80%
(C) | 74% . o |e5%

{15} | What is the ratio of candidates passed to the candldates enrolled from institute P?

(A) 9: 11 T ' (B)

1417 -

C) 6:11_ D)

g:17

— X
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@I [y | Aosedlot ﬂa@t 7 et ustdl Qo1 el

(o) | 45 AER Red g7 b Ao Mect Rold Wweoad,

i Q2 udu udlau .&aa_ 9? la{_au‘ua%l_uﬂ&tﬁaﬂ el asudl Auiel Aue d wdlew @R [@Qaid M dl

Q3 | e%.;; Wi 5ol B Aney s2ga As ouL B,

(1) | TIGER :: QDFHS. FISH i ? | |
(A) | GERH ' (B) GRHE

() . | GREH S (D) GHRE
(2) | ROAR: URDU URDU: |
A 31425 o 1® |s4213
Ll | s4s - © . | 15243
143 | PO, NML, KJI, EDC o = _
)y HGF ’ | o ) CAB
© KL S K I K

j.(4) | % "CYCLINDER' piél@ Houed yud olsdd B L udell Lgf_tl_étﬂaﬂ el Becl 8l & vetz Wl i@l

T Tn B Te [
© iy S EG) IR

8) | ol wib(ds el 'SEQUENCE' 3 'FDOFVRFT 8l dl 'CHILDREN' 3R euwidd cvll.

(A) . | OFESIMID o 1) OFSEMJID .
© |oFsEIMD ' (O) . | OFSEJMID .

(8) R TE ,a([uq

) Qed i o o 1® o ; odg

Y , o
. (PToD |




(©) e ; Walw (D) seley ; Yt
(M ] wdar s ugdl
A udd : ugdl ®) achHiol ; ¢cistan
©) ansiellet - SR () et : uloal
® | wuslsz= sued: el : 2 |
(A) dogelei B | uar
© . | el © |y
9 My uncle decidgd to take ...... and-my sister to the market. _
(A) ! (B) | Mine
(C) Me Dy Myself
ual sieiz 90 ol 1332 Aol sl Lu(%cﬂou AR Lol w0l P QRS,T, w13 U 8B s Wil
2oictell 52 HEA otz AR uraagmt Qe B, p A uell oflat- sHY swﬂ outy A3 8. Q3 R wd
S sll u&l&[l é T a sofl oflost sm?s 5[0{1 ou'ya E
{10y | pofl [&gs« {%%utu slal Qéc«t &7 |
A | R @ Q
e T | | o |s
(11) | pofl stell Gusyd e s g d? |
® [P ® |U
©) IR ‘ (D) | Data inadequate
12) | p oy wilell se B2
(A [usP ® [T&R -~
1(c) {U&R. (D) | Data madequate
(13) | 70 Rgg Rowd dy Bad? - o
BCERL ) | ® |a
_ (C). Cannot bé determined , '(D) 18
(14} (1) 1(2) lmmedtateiy (3) Salary (4) my (5) wantj _
(A) |43152° (B) | 18432
©) | 25143 (D). | 42351 (E) | 45132

(£




‘ (1) | ad qeed dl 2000 2sellat@totell 2vall decll GRS ud AsGozozell uvau GRS A A a2dR
' | dslad yedl? |
) (A “Thes B | 112
f (C) 96 | (D) 88
(2) | a acee Ml ge acl ugAUnt é}laﬂul'staim' 37 |
(A) - | 1312 1@ | 1192
; (C) | 1088 (D) | 968 |
- (3). | and acew ol 'R000Ml et 3ol neer A 58 3ol aﬁa B7
& | aer 1B | 2sollazst
@ e | @) | AsGozoz
{4 ad weeo wiadl % %Eatﬂu;g gladlziedl W dual Yacll?
_ Ty, 135 | (B). | 1195
(cy |1285 (D) | 1235 -
47

(1) medicine (2) a (3) Neeta (4) given (5) was

(Ay | 51423

(B) | 25431

15423

(©

(D} (E)

42531

35421

25 us 2wAld B Axy edsell As Bl B.

Yot olote 4. ol W MR Yol

1 o3 2t Sleesui otan sriafluilall dvall FEL YEL juollotl Qoo s34 52 D ma-s_limélunﬁt

Bl v wuA susla A Qe adlell @atct et B, |

* Year | Managers ~ Technicians _Op@éfofé Accouniants . Feons

| “New -_ Leﬁ Néw Leit '.New Left  New Left I\.!éw Left
1005 760 - 1200 . - © 8B0 .10 - 820 -
i 1998 280 120 22 120 256 04 200 o0 184 %6
1997 179 92 . 240 128 ; 240 120 224 104 152 88
' 1998 148. _és_‘ :7'723:_5_5 " e 208 10—0 248 96 ; 196 8
1999 160. 72 286 100 192 12 | 27 88 224 120
o000 | 193 o6 288 412 248 | 144 | 260 e 200 04

(F‘-Tuf)




ad qeeu wal el 2000 e FAH aluded suddl slsaell dveuR g Mured yde Aadasll

- (5)
dvall esladl e,
(A) 19% (B) 21%
(C)y. | 27% (D) | 29%
ua ool & ol 20 W2 YUl :
anoi alBs uRa t oot AN U@ B. ule 2001 ~ WA 2002 £32uls HIRBL ¢l (Quell €28
uHBs udlawd W Y@e 53 €35 wRls udland Axeu ste Al wdd sad oA PulLaEHL
v AA D, ' '
| o . 2004-200000 B 6L uBetnl &8 wuel@er edlel udlawad @enell szl Aadel o Exani
= 500 ‘ '
410 - | 405
400 e
| 300 - 285
? 380- e
; ‘ 3?0 .’ =
_ 370
] 360
350
. 340
330 Ao L e et D e e Ly
: Apr-01  Jun-01  Aug-0t  Oct-01 = Dec-01  Feb-02
{8} | sa @l udlawnd @uall 200Gett @5 uflanslott el ol Well ay esicidl aw Aae e
| A gt (B) " | wlowe 1
O | 2sAr D) | Q3o 4
@) _ssg.wéla'[_l Nade opglell Aveud ule 1 Hi Andel set ofeL U4l 25t g B?
(A) | 110% E (B). | 1125% '
Gy | 5% . 1Dy | 116.5%
(8} | 2Qore 1w Ashon? 4 -cr[t.at‘ut[iis udleund Qaedl g ﬂqxaa"ojeio{t 'a,;fstcuﬂ JB?

(A) | 73.25%

| B) | 755%

1@ |77%

(D) | 7875%

&)




19) | Beetl ux £21auet i U uﬂ&twﬂm [amaf[ gl Nndct A 2R 4 8 7

(A) 373 (B) 379
| 381 (D) 385
"(10) 565 vicdls udla wouGell widlRs udlatell daueiellal estaidl dpeL uzel B 2
i (A)' | None | (B) i June, 01
Tl losor (D) | Feb,02

MBAvﬂ yda uﬂ&um et GRedt dan Ay &

ua ooz a1 Al U2 Yol : gl WA 51 ool uAletl agcllel B, -

wwﬂmaﬂ ydal uélsﬂut Uiy aaet Gﬂecua«ﬂ

afvanell adaefl aet‘taa @

0N | eiwmlé[l §.G_t A 6Recdbisl dec 25t GREAD udlaw wat 53 7

(A . | 50% (B) | 625%
© |7% (D) | .80%
_L.‘D

(PT0)




(12)

565 draHizll Qe GRearzluiel el ay GReal Gellel aru &2

(N) '

AN | (B) R
(C) v o |7
%_(13) TUA R ol Al et GREAUN 52l 5 A P deeuniall wa 2Act st GRe Jaall duR 87
(A) 228 | (B} 279
(C) 399 (D) | 407
- {14) | q vial R daUtell 5A AWAA GRe el ﬁmgm’t Wy 23 GRedlle] yuiel 32l 250 6 ?
A Tes% ' (B) - | 80%
) | 74% (D) | 65%
(15) | diaeu P i ARG A el W 23l GREAUNA SR Becll & 7
ol (9: 11 | (B) | 14:17
© ' |61 Dy . |9:17




